
 

Unit 8 A Clever Son 

 

 

A. Write the missing letters to complete the sentences.   

1. 

  

John s ___ ___ ___ ___ some jewelry. 

2. 

   

John’s old mother v ___ ___ ___ ___ ___ ___ him in prison. 

3. 
  

I’m too old and w ___ ___ ___ to dig up the old plants.  

 

 

B. Match the correct questions and answers.  

1. Why was John in prison? •  • a. His old mother 

2. Who visited John? •  • 
b. Because he stole 

some jewelry. 

3. Who dup up the whole 

garden? 
•  • c. The police  

 

 

C. Unscramble and write the sentences.  

1. I can’t dip up / because I’m too old and weak. / the old plants 

_______________________________________________________________________________ 

2. because of John’s letter. / the whole garden / The police dup up   

_______________________________________________________________________________ 

3. I buried the jewelry there. / in the garden because / Don’t dig  

_______________________________________________________________________________ 
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